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1. What do you understand by procedural programming paradigm? 

Ans: In the procedural Programming, program are divided into different procedures(also known as functions, routines or subroutines) and each procedure is a set of instruction is a set of instruction that performs a specific function. 

2. What do you understand by object oriented programming paradigm? 

Ans: In the Object Oriented Programming, programs are divided to represent real word models in a better way through object. The major concept in OOP includes objects, classes, encapsulation, abstraction, inheritance, and polymorphism.
3. Explain all the features of OOPs with their implementation in C++.
Encapsulation:



Enapsulation refers to the grouping of data and function within a single entity. The data and function that are encapsulated together correspond to the properties and action of the real word object respectively.

Data Hiding:



The data defined in the class accessed only through the function defined in the class Thus, the data is hidden and safe from any accidental modification or deletion by the program. This protection of the data from the class is known as data hiding or information hiding.

Inheritance:



Inheritance refers to the means by which one class acquires or inherits the data and function of another class. It allows the new class to have the same data and function of the existing class and add other the data and function specific to the new class.

Polymorphism:



Polymorphism refers to the ability of an operation to function in different ways depending on the context. Polymorphism is implemented either at compile time or at runtime. Functions are overloaded when they are defined with the same name but different parameters lists. The parameter list of the function differs from that of another function when the number or the data types of the parameters of the two functions differ.

Abstract Class:



A class which provides only the interface of one or more functions and not their implementations is known as an abstract class. An abstract class only specifies what the function does, what all its requires, etc. but it does not specify to the new class.

Concrete Class:


The class that provides an implementation for all its function is known as concrete class. The concrete class can have one or more object.

4. Why main function is so special in C++. Give at least two reasons.

Ans: Whenever a C++ program is executed only the main function is executed. The execution of the program starts and end at main().
5. Write two advantages of using #include complier directive.

Ans: #include directive instruct the compiler to include the contents of the file enclosed within angular brackets into the source file. 

6. Differentiate between a run time error and syntax error. Give one example of each.
7. Illustrate the concept of function overloading with the help of an example.

Ans: Functions are overloaded when they are defined with the same name but different parameters lists. The parameter list of the function differs from that of another function when the number or the data types of the parameters of the two functions differ.


void add(int a,int b);


void add(int a,float b);


void add(int a,char str[]);

8. Why is a destructor function required in classes? Illustrate with the help of an example. 
Ans: Destructor function is required because the resources and the memory allocated to data members must be released when the sope of the object terminates.

9. Illustrate the use of this pointer with the help if an example.

Ans: The this pointer is a special pointer that contains the address of an object of a class currently calling the member function of the class.

Ex.

#include<iostream.h>



Class x



{




private:





int a;




public:





void setdata(int b)





{






a = b;





}




void print( )




{





cout<<”a=”<<a<<endl;





cout<<”\n The address of the calling object is :”<<this;




}



};



void main( )



{




x ob1;




int a = 10;




obi.setdata(a);




ob1.print( );



}

10. What is the use of a constructor function in a class? Give a suitable example for a constructor function in a class.

Ans: A constructor is a special member function of a class that has the same name as that of the class and is automatically called when an object of the class is declared. It allows the object a class to be initialized in the same way as variables or built- in data types.


Example:




#include<iostream.h>




class abc




{




private:





int x;




public:





abc( )




//constructor function





{






x=10;





}




};




void main( )




{





abc a1;




} 

11. Illustrate the concept of function overloading with the help of an example.

Ans: same as Q 7.

12. Differentiate between a constructor and destructor function.

Ans same as Q9 and Q10.

13. Illustrate the use of “self referencing structures” with the help of an example.

Ans: A self referential structure is a structure that refers to it self. A self referential structure is different from an ordinary structure in a way that self – referential structure has a structure pointer of its own type as one of its member variable

Exp:



structure student



{




int roll_no;




char name[20];




char address[40];




student *next;



}; 
14. What is the purpose of a header file in a program?

Ans: The purpose of a header file in a program is that, with the help of these files we can use built-in function in our program.

15. What do you understand about a base class & a derived class ? if a base class and a derived class each include a member function with the same name and arguments , which member function will be called by the object of the derived class if the scope operator is not used ?
Ans:


The class whose members are inherited by another class is known as base class or super class and the class that inherits the members of base class is class is called derived class.

Error too many types in declaration.
16. What do you understand about a member function? How does a member function differ from an ordinary function?
A member function is a function that can be defined either inside or outside the class definition and is a part of class and can not be accessible out side of the class without class object.

But ordinary function is just like a normal function and can be access anywhere in the program freely. 

17. Differentiate between call by value & call by reference with a suitable example.

Ans:

	Call By Value
	Call By Reference

	The formal argument holds a copy of the value of the actual argument.

The actual argument value cannot be changed by the function.

The actual argument can be a variable, a constant or an expression.
	The formal argument is a reference of the actual argument.

The actual argument value can be changed by the function.

The actual argument must be a variable.


Example:-

[image: image1.png]Call by value:

#include<iostream.h>

void swap(int a,int b)

{


int c;


c = a;


a = b;


b = c;

}

void main( )

{


int x, y ;

cout<<”enter two no”;

cin>>a>>b;

cout<<”Before calling swap function value of x = “<<x<<endl;

cout<<”Before calling swap function value of y = “<<y<<endl;

swap(x,y);

cout<<”After calling swap function value of x = “<<x<<endl;

cout<<”After calling swap function value of x = “<<x<<endl;

}

Call by Reference:

#include<iostream.h>

void swap(int &a,int &b)

{


int c;


c = a;


a = b;


b = c;

}

void main( )

{


int x, y ;

cout<<”enter two no”;

cin>>a>>b;

cout<<”Before calling swap function value of x = “<<x<<endl;

cout<<”Before calling swap function value of y = “<<y<<endl;

swap(x,y);

cout<<”After calling swap function value of x = “<<x<<endl;

cout<<”After calling swap function value of x = “<<x<<endl; }
18. Differentiate between  global & local variable with a suitable example.

Ans: Local variable:

The variables that have a local scope are known as local variables. In other words, variable that can used only in the function or the block where they can declared are known as local variable.

Global Variable:


The variable that have a global scope are known as global variables. In other words, variables that can be used in all bocks and function in a program are known as global variables.

19. Differentiate between nested class & inheritance with a suitable example.

Ans:


The difference between nested class and inheritance is that in nesting class the class that contains an object of other class can access only the public members of that class private and protected members are not accessible to the enclosing class. But in inheritance derived class can access the protected members of the base class also. 

20. Differentiate between default & copy constructor with a suitable example.

Ans:


Default Constructor:



A default constructor is a constructor that has no parameters.


Copy Constructor:



A copy constructor is a constructor that that initialises a new object with the value of an existing object.  


class abc



{




int x,y;



public:




abc( )




{





x = 10;





y = 20;




}




abc(abc &t)




{





x = t.x;





y = t.y;




}



};

21. What is the difference between macros and function?

Ans With Macros, a program runs faster as compared to functions. However, macros increase the program size a macros statement is replaced with its expansion wherever it is called. Whereas, functions occupy less memory space as the function call statement passes the program control to the function instead of replacing the call with the function body.
22. Illustrate the use of #define in C++ to define a macro.

Ans #define preprocessor directive is used to define symbolic constant in a program. The #define identifier replacement is also known as a macro definition or simply a macro macros may be 
define with zero or more arguments. A macro without argument is used to define a symbolic constant and a macro with arguments is used to replace expressions or code fragments in a program. A macro define is not terminated by semicolon.

Example:


#define LIMIT 10


//Symbolic constant


#define sqr(x)
(x*x)


//Macro

23. Define Multilevel & multiple inheritances in context of OOP with suitable example.

Ans:


When one class is inherited from another class, which in turn is inherited from some other class, it is referred to as Multilevel Inheritance. 





When a derived class inherits from more than one base class simultaneously, it is referred to as Multiple Inheritance. 




24. Illustrate the use of inline function in C++ with the help of a suitable example.

Ans:


A inline function is a function whose code is copied in place of each function call. Inline functions are specified by prefixing the inline keyword to the return type in the function prototype. A function that is specified as inline ‘request’ the compiler to replace its each and every call by the code in its body.

25. What is a default constructor? How does it differ from destructor?

Ans:
Default Constructor:



A default constructor is a constructor that has no parameters.


Destructor:



A destructor is used to released the resources and the memory allocated to the data member when scope of the object terminates 

26. Differentiate between a date type struct & a data type class in C++.

Ans:

The Differnce b/w class and structure is that by default all the members with in a class are private and with in a structure by default they are public:

27. Explain the concept constructor overloading with a suitable example.

Ans: When multiple constructors are defined for a single class such constructors are referred to as overloaded constructor and the process is called constructor overloading.

28. What do you understand by visibility modes in class derivations ? what are these modes.

29. What do you understand by Syntax Error, logical Error & Run time error.

Ans:


Syntax Error:




Those error that comes at the time of compilation are known as syntax error like as statement terminator missing.


Logical Error:




Logical errors occur due to wrong analysis of the program. Due to logical error program does not give the desired result. 


Runtime Error:




Those errors that comes during execution are known as run-time error. Example:

1. Division by zero.

2. Stack over flow

3. Array index out of bound

30. What do you understand by enum?
Ans: The enumeration is a set of integer constant, written as identifiers, specifying the possible value that can be assigned to the enumeration variable. These set of possible values are known as enumerators. By default the first enumerator in the enumeration data type is assign the value zero.
Example:


enum color(red,green,blue};


cout<<blue;






Output 2

31. Define Friend class?

Ans: Sometimes, member functions of one class require to access to the private members of another class. In such cases, the class that requires an access the private members of the other class can be made a friend of that class. A class that is made a friend of another class is known as friend class. Friend classes are declared with the keyword friend and class inside the class of which it is a friend.
Exp.
#include<iostream.h>



class number



{




int value;



public:




friend class abc;



};



class abc



{



public:




void add(int x,int y)




{





number n1, n2;





n1.value = x;





n2.value = y;





cout<<(a1.value + n2.value)<<”\n”;




}



};



void main()



{




abc a;




a.add(10,20);



}



OUT PUT IS 
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32. Define Friend Function?

Ans: A friend function is a non member function of the class but function an access to all the private and public member of a class of which it is a friend. Friend function is declare with the friend keyword inside the class.


Exp.
#include<iostream.h>



class para



{




int side1;



public:




int side2;




friend void per(int,int);



};



void per(int x, int y)



{




cout<<”Friend Function”;




para p;




p.side1 = x;




p.side2 = y;



cout<<” Value of side1=”<<p.side1<<endl;



cout<<”Value of side2=”<<p.side2<<endl;



}


void main()



{



per(10,20);



}



The output of the program is




Friend Function




Value of side1= 10




Value of side2= 20

33. What do you understand by union?

Ans:
Unions, like a structures, consist of members of the same data type or different data types. The only difference is that all the members of a union share common storage are, but in structure all the member assigned its own unique storage area.

34. Define the term typedef with suitable example.

The typedef keyword allows the programmers to define a new data types based on the existing data type. The typedef define a new name for an existing data type.

Example:



typedef int integer;
Part 2
1. What are Repeaters?

Ans. A repeater amplifies the input signal to an appropriate level and work at physical level of the OSI model. Some time the signals on the internet become weak before reaching the destination node. Repeater is used to regenerate the incoming packet and amplify it and then transmit it to another segment of the network.

2. What is Mosaic used for?

Ans. Mosaic is a UNIX based program used to browse the internet.

3. What is a Pointer?

Ans.  A Pointer is a special data type variable that stores the address of the location in the memory, where the data has been stored.

4. What is a Queue?

Ans. A queue is a FIFO type non-primitive linear data structure with two open ends, one called the Front where data is accessed and another called the Rear, from where data is added.

5. What do you understand by stream?

Ans. Stream is a flow of data. There are following stream.

Input stream

Output stream

Fstream

6. Differentiate between CREATE TALE and CREATE VIEW commands in SQL.

Ans. CREATE TABLE is used to create a relational table. When the table is created its column are named, data types and size are supplied for each column. Each table must have one column.


CREATE VIEW is a virtual table with no data, but can be operated line any other table. It is like a window through which you can view the data of another table.

7. What is Router?

Ans. Router is a device that works like a bridge but can handle different protocols.

8. What is the use of MODEM?

Ans. A modem is a computer peripheral that allows you to connect and communicate other computer via telephone line. Modem converts the digital signal into analog and analog signal to digital.

9. Define the inheritance.

Ans. Inheritance is the capability of one class to inherit the properties from another class. This support reusability of code. 

10. Define infix notation, prefix notation and postfix notation.

Ans. Infix notation:- in infix notation the operator of a binary operation is placed between two operands. For Example A + B

Prefix notation:- In prefix notation the operator of a binary operation is placed before both the operands. For example + A B

Postfix Notation;- In postfix notation the operator of a binary operation is placed after both the operands. For Example AB+

11. Name all the models available for database system.

Ans.  There are three data models available:

a. Relational data model

b. Hierarchical data model

c. Network data model.

12. What is e-mail? What are its advantages?

Ans. The e-mail or electronic mail is sending and receiving messages by a computer. The major advantages of e-mail are:

· easy record maintenance

· low cost

· fast delivery  

13. What do you mean by the backbone network?

Ans. A backbone network is a network that is used as a backbone to connect several LANs together to form a WAN. Example. FDDI (Fiber Distributed Data Interface)

14. What do you mean by client / server architecture?

Ans. Client server architecture refers to a network in which a workstation can request information from a computer that can shares resources i.e. the server.

15. What is a relation? What is the difference between a tuple and an attribute?

Ans. Relation is a table, which is an arrangement of data in row and column format. Each of the relation has a number of columns with unique names.

The rows of the table are called tuples and the columns of the table are called attributes.

16. Describe Usenet.

Ans. Usenet is a group of individuals sharing a particular interest to discuss views regarding their interest i.e. newsgroup.

17. Differentiate between ifstream class and ofstream class.

Ans. Ifstream class is used to create stream objects from which the syntax receives input data. Ofstream is used to create stream object to which the system can output data.

The ifstream is derived from istream class and it is used to associate a file with and input buffer so that the file can be read from .

The ofstream is derived from ostream class and it is used to associate a file with and output buffer so that the file can be write onto.

18. What do you understand by visibility modes in class derivations? What are these modes?

Ans. Each member function and data member of a class has an attributes known as its visibility. The visibility mode determines the availability of the members of a base class to the deriving class from the derives class. The three modes are private, public and protected.

19. Differentiate between read( ) and write( ) function.

Ans. Function write( ) writes data to a binary file from buffer. read() function read data in the buffer from a binary file.

20. What is bridge?

Ans. Bridge is used to connect two network of same type such as that the LANs are logically same but physically separate.

21. What is the purpose of using FTP?

Ans. FTP is  a network protocol which is used to transfer file(s) from a computer at one location to remote computer , usually over the internet. FTP stands for File Transfer Protocol. 

22. Give two advantages and disadvantages of BUS, Ring and Tree topology.

Ans. BUS topology advantages:

1. Length of the cable is small.

2. Layout of the cable is very simple.

Disadvantages:

1. Fault in the backbone cable can upset the function of the whole network.

2. Fault diagnosis is difficult.

Ring Topology:

1. it is characterized by data flow around the ring on one or two direction. Sharing the ring through token, each node being connected to its neighboring node.

2. Short cable length and less connection will be needed which increase network reliability.

Disadvantage:

1.
Since each node in this network connected to its neighbouring node and data is travel through each node. There is one traffic flow until defective node is removed. This causes network failure.

2.
in this topology this is difficult to diagnoses fault and re- configure network is also difficult.

Tree Topology:

1. Suitable for hierarchical flow of data.

2. This make it easier to isolate a defective bode. 

Disadvantages:

1. Low speed. The data transmission is slow.

2. Fault isolation is difficult.

23. What is the difference between MAN and WAN?

Ans.
MAN






WAN


1. Diameter limited to the area of the city.

Span entire country.


2. A data rate of several Mbps.


Data rate less than 1 Mbps.

24. Write the two advantages of using include compiler directive.

Ans. The preprocessor directive # include tells the compiler to insert another file into the source file. The two advantages are;

1. The program is broken down into modules thus making it more simplified.

2. More library functions can be used at the same time size of the program is retained.

25. Illustrate the use of this pointer.

Ans.
The member function of every object has access to a sort of magic pointer named this, which points to the object itself. The this pointer useful in returning the object (address) of which the function is a member.

26. Distinguish between serial and sequential file.

Ans. In the serial file there is no importance of primary key field. Record are stored in the order they arrived and also retrieved in the same order. Record cannot be arranged according to a key value in a serial file.

In the sequential file, records can be written in a specific order of key field. Record retrieval is in the same order of key field.

27. What are DDL and DML?

Ans. DDL:



Statement is the another category of SQL statements, these statements define, delete, modify database objects. E.g., CREATE TABLE, DROP TABLE, ALTER TABLE.

DML:



Statement is the another category of SQL statements, After the database objects have been created, data can be manipulated using the special set of statements called data manipulation language. E.g.  INSERT, UPDATE, DELETE.

28. Name two switching circuits and explain.

Ans. Two switching mechanisms are in use for digital data transmission. They are circuit switching and Packet switching.

Circuit switching:



Is the process in which complete route is established well in advance before data is transmitted. Every intermediate computer is act as a switched device which receives data as an input and diverts it as output through the appropriate channel. The process is repeated until the correct destination is reached.

Packet Switching:



In this switching technique no path is establish in advance. The data to be transmitted is store in source computer and forwarded later one heap at a time. The number of bytes transmitted in one  lot is known a packet. The size of each packet is fixed. The packet is buffered in the RAM of the intermediate computer. The packet contains the address of the destination to which the packet will be directed.

29. Distinguishing between ios::out and ios::app.

Ans. ios::out is used to create a new data file. If said name already exists, this statement overwrite them.

ios::app is used to append data at the end of existing data file.

30. What is the purpose of header file in a program?

Ans: The c++ language contains some statement only and not any built-in function. Reather it provides standard library that contains files storing the standard functions these files are know as header files. Header files provide function prototype , definition of library function. 

31. Define Queue and Stack.

Stack: A stack is a LIFO structure and physically it can be implemented as an array or linked list. When a stack is implemented, insertion and deletion take place only from one end ie. The stack top. 

A queue is a FIFO type non-primitive linear data structure with two open ends, one called the Front where data is accessed and another called the Rear, from where data is added.

32. What do you understand about a member function? How does a member function differ from an ordinary function?

Ans: a member function is the set of operations that are applied to objects of that class. A class may have zero or more member functions. they are also referred as class interface.

An ordinary function is set of statement enclosed within curly braces and can be accessed by an ordinary variable. No security is provided in an ordinary function.

33. Define primary key ,candidate key and alternate key.

Ans: the primary key is a column or a group of column that contain data, which is unique. There can be only one primary key per table. Every table must  have a primary key. The primary key should not be NULL.  

Those key fields that can be serve as a primary key called candidate key.

Out of multiple candidate keys, only one candidate key act as a primary key in a relation and the remaining candidate key is/are called alternate key.

34. What is  the purpose of using a gateway?

Ans. The gateway is used to connect two network of different type. It operates at the  level of application of  OSI model. A gateway like a router, find the optimal path for message directed to a specific node in different network.

35. Write an advantage and disadvantage of using fiber optic cable.

Ans it has higher capacity and low loss medium.

Disadvantage


This is expensive, difficult to join and connectors are expensive.

36. Define term cardinality and degree?

Ans. The number of tuples(rows) in a relation is called cardinality of the relation.

         The number of attributes in a relation is called degree of the relation.

37. Define co-axial cable and fiber optical cable?

Ans: coaxial cable are group of specially wrapped and insulated wire line that are able to transmit data at high rates. They consist of a central copper wire surrounded by a PVC insulation over which a sleeve of copper mesh is placed.

Optical fiber consists of fiber optical cable that is made of tiny threads of glass or plastic. The light waves are transmitted over the fiber.

38. What do you understand by the term cookies and firewall?

Ans. Cookies:



Cookies are the bits of data put on a hard disk when some on visit certain web sites. The cookies on the hard disk have the username and password in it, so people don’t have to log in.

Firewall:



It is the system to prevent unauthorized access to / form a network.

39. What is the importance of cyber law?

Ans: cyber law is an agreement between two parties making transmission using cyber technologies. Like any other law cyber law is enforced over all activities performed in which computer play a vital role. Any such activity which is proved to be happened by breaking the clauses of cyber law is punishable act and suitable punishment can be awarded under cyber crime act and section before the court of law.

40. Difference between Hackers and Crackers.

Hackers:


These are the persons who get unauthorized access to the websites and replace them with other website or unlawful information.

Crackers:


The person by using certain software to trap authenticated information or crack the security code such as username and password to illegally access the information on computer are called crackers.

41. What is a circular queue and how it is different from ordinary queue?

Ans: circular queue are the queues implemented in a circular form rather than a straight line in these queue the last element if followed by the first element.

In a single linked list insertion take place at rear end, and deletion take place at front end.

42. What is the difference between typecasting and automatic type conversion? Explain with suitable example.

Ans: Type Casting:




It is an user define explicit type conversion in which operand in an expression is forced to be of a specific data type e.g.

(type)expression

Automatic type conversion:




In case of an expression in which operands different data type are mixed an implicit type conversion is performed by the compiler which automatically converts all operands upto the type of largest operands.

43. How is an e-mail different from a chat?

Ans: e-mail is used to send and receive messages electronically in which sender and recipient need not to be online at the same time. The message are accumulated at the receiver’s mail box and can be retrieved at any lates time. Attachments of other document is possible in E-mail.

Chat:


In chatting, to send and receive messages, both the sender and receiver must be online and available over the internet simultaneously, no record maintainer is available in chatting and no document attachment is provided on it.

44.
Define intranet?

Ans:


An intranet is a private network that is contained within an enterprise It may consist of many interlinked local area networks and also use leased lines in the wide area network Typically, an intranet includes connections through one or more gateway computers to the outside Internet. The main purpose of an intranet is to share company information and computing resources among employees. An intranet can also be used to facilitate working in groups and for teleconferences

ARPANET
Advance Research Projects Agency Network

PSE
Packet Switching Exchange(PSE)

PAD
Packet Assembler and Disassembler 

RF
Radio Wave Frequency

LAN 
Local Area Network

MAN 
Metropolitan Area Network

WAN 
Wide Area Netwoks

RJ-45
Registered Jack 45

Modem
Modulation Demodulation

HTTP
Hyper Text Transfer Protocol

FTP
File transfer Protocol

SLIP
Serial Line Internet Protocol

PPP
Pint to Point Protocol

OSI
Open System Interconnection

TCP/IP
Transmission Control Protocol / Internet Protocol

WWW
World Wide Web

HTML
Hyper Text Markup Language

XML
Extensible Markup Language

SGML
Standard Generalised Markup Language

URL
Uniform Resource Locator

DNS
Domain Name System

DSL
Digital Subscriber Line

E-mail
Electronic Mail

Telnet
Telecommunications and NETwork

WAIS
Wide area information Service

GSM
Global System for Mobile Communication

CDMA
Code Division Multiple Access

WLL
Wireless Local Loop

3G
Third Generation

TDMA
Time Division Muliple Access

SIM
Subscriber Identity Module

SMS
Short message Service

NNTP
Network News Transfer Protocol

SMTP
Simple Mail Transfer Protocol

POP
Post office Protocol

IMAP
Internet Mail Access Point

FDM
Frequeny Division Multiplexing

WDM
Wevelength Division Multiplexing

TDM
Time Division Multiplexing

NFS
Network File System

DHCP
Dynamic Host Control Protocol

Stdio.h
getchar(),putchar(),fflush(),fclose(),feof(),scanf(),printf(),remove(),rename(),gets(),puts(),

conio.h
getche(),gotoxy(),clrscr(),getch(),putch()


iostream.h


getline(),get(),put(),read(),write(),seekp(),tellp(),flush(),close(),eof(),open()


ctype.h


isalpha(),isdigit(),islower(),isupper(),isalnum(),tolower(),toupper()


string.h


strlen(),strcat(),strcpy(),strcmp(),strcmpi()


math.h



ceil(),fabs(),floor(),fmod(),pow(),
sqrt(),log(),sin(),cos(),tan(),abs(),div(),exp(),


mod(),frexp()


stdlib.h


itoa(),atoi(),ltoa()
,atol(),random()
,randomize(),calloc(),malloc(),exit()


iomanip.h


dec(),hex,endl,setw,oct,ws,ends
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If input no x = 2 and y = 3 


Output is:


Before calling swap function value of x = 2


Before calling swap function value of y = 3


After calling swap function value of x = 2


After calling swap function value of y = 3





If input no x = 2 and y = 3 


Output is:


Before calling swap function value of x = 2
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